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6.1 Solving Systems of Equations by Graphing

What is the solution of the following systems of equatlons?

Y y (2 -2) l Lp
‘}4,2) w

The three above examples are called consistent independent
systems because the lines are distinct (meaning
independent) and intersect (meaning consistent).

Decide whether the ordered pair is a
solution of the system of linear equations.

1. 2—X+Yf%% (-4, -2) < not o
X+Yy= = Solwtion
"’“‘Y -2

9 = -0

1f -2



6.1 Solving Linear Systems by Graphing (work).notebook February 20, 2024

Decide whether the ordered pair is a
solution of the system of linear equations.

2. 3x+y=11 ) .
X-2y =6 (4, y”é—Solud:lon

2x + =] X—2y=¢6

34 +-1=1 ;"22)3?66
2 +-1=1 e

Solve the system of equations by graphing.

3. y=%x-1 = y“Q‘M‘di‘?D,
y:-X+4 \\\ (_ﬂ_)l\
.
\Ja%x“l \'\k ‘ /,/A
m=% y-inb=- s
§e X
= — X+ Lq //./"
m= L yint=y
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Solve the system of equations by graphing.

4, y=-2x+ 1 A
y=x-5 A\
y=-2X + | X A1
=-2 yrint=| ¥ _
N= K—=5 | X -
m:\ \"'\nt=‘5 '\mzn
/// \
e S

Solve the system of equations by graphing.

5. y =2X N Mt WA

X+y=3 f
y=2X+0
YY]:Q. \J-ln‘t=o 1_51

+ y=23% ‘ i =
Ayt X
K \j=-)<i-_’7) /

m=~ | s
J-iny =% -




6.1 Solving Linear Systems by Graphing (work).notebook

February 20, 2024

Solve the system of equations by graphing.

6. 5x + 6y 30 y

y = _X 2 N Seltion

"V‘-"g \J InE=-2 - o)

-5x AN e
_\4=~5x+zo TR
e b /,a/ \ﬂ
V =-2X+5 AT
-2

m==-3

y-mt =5
Solve the system of equations by graphing.

y-int=
7. y= T 3 i
_ /- ¢

-3X+y=-4 /,/ ;
—x+y=-14 ,/ /
+3X +3X /H‘ "

y=3X—Y H1

/
m=3 At
_ /
VAL /
H
ne Selution
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Solve the system of equations by graphing.

8. X-2y=6
4y = 2x - 12
-y=06  Hy=2x-12
ﬁ =X TIlL 4 Y :
_2 =:_>S.+_é. * ——p
F o YK /‘//" X
\J:é-x—f; m-,—..% /(/
=+ -
2 V-int 35
ynt=-3

\r\ﬂn\#el\l Mah‘t sofuktons

9. The cost to join an art museum is $60. If you are
a member, you can take lessons at the museum for
$2 each. If you're not a member, lessons cost
$6 each. Which system of equations can be used
to find the number x of lessons after which the
total cost y of lessons with a membership is the
same as the total cost of lessons without a
membership?

A, y=2x B. y=60x+2
y = 6X y = 6X
C. y=2x+60 y = 2X + 60éEmember

y = 6X + 60 Y = 6Xenon-mesoper
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10. The school is selling tickets for a fundraising event.
The school sold 35 tickets for $86 on the first day
of the sale. Student tickets cost $2 each and non-
student tickets cost $3 each. Find the number of
student tickets and the number of non-student
tickets the school sold on the first day.

X = student tickets
| = hon-svudent Yickets

X+ V= 25 {icket ?,OLVLOHS'!DH
72X + = S6  money equation

— 9 student tickets
(M) l@ e non-student tickets
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